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2.1: Unit 2, Chapter 1 - Angles, Right Triangles, Radicals

Notes
Draw a picture of each in standard position. Label the angle and name the vertex, terminal side and initial side,
Acute Angle Obtuse Angle Right Angle Straight Angle
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Prove the Pythagorean Theorem.

. prea of Bug éfuo\f( = Area o Litle Sguore
: (4+b) Yhab) + X+ Ata U briamgles.
atsdab 2. qaL+@
“dab -Aab
a+b =
Complete.

s W3

e

Ifq=8,p —‘N3mdn_
Ifn=20,q=_J|0 andp= l ‘rg

Ifp= 43 q=_@Yaman=_G

Ifp=9,q=333 andn=

Ifr=6,t=®_.
Ifs= 25, e—;LILD

Ift=

V2 c=
Ife=10,s = ﬂ‘i_

el o

x"f ( )(ﬂ)lx 132
e ity s 14
artldx <120 = 0
;(3'1‘7): -0 =0
(X-g)()(-rl'l.) =0

A Iadder is leaning against a wall. The top of the ladder is 4 feet above the ground and the bottom of the ladder makes an
angle of 60° with the ground, How long is the ladder and how far from the wall is the bottom of the ladder?
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Solve for x.
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1. Find b in terms of a
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2. A man surveyed a triangular pﬂ.\‘cel of land and determined the following dimensions:
Angle B is 105°
Angle C js 30°
Side BC is 20 meters
Find the area of the triangle to the mmest square meter, [Hint: draw an altitude.]
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3. 'I’wo ladders (L1 and L) are leaning against two walls as shown in the ﬁgure below.

L;is 18’ long.

a. Exacily how far apart are the walls? q‘)ﬁ\
b. Approximately how long is Lz (fo the nearest 0.17)? | § d’ 2
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Find: DE (exact value)
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